Organic Chemistry Problem Set #3

Problem 8.14 N
How would you prepare each of the following compounds starting with an alkene?;
(a) H (b) H{IJ ?H o) H(i} ?H :
{—=OH 'CH;;CHECH(I:CHg HOCH,CHCHCH,0H'
~~OH CHs
CH3
Problem 8.16

Propose structures for alkenes that
followed by treatment with Zn:

(a) (CH3),C=0 + HyC=0 (b) 2 equiv CH3CHyCH=0

yield the following products on reaction with

Problem 8.28a

Predict the products of the following reactions, showing both IEging
and stereochemistry where appropriate:

(a) CHa (b)
A0 KMnOg
2.Zn, HzO0+ HsO* :
H
(c) CH3 (d) CHg
1. BHj 5

2. HyOg, —OH
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Problem 8.35 (e,f)

would you carry out the following tran . :
sformations? Tell the reage
use in each case, gents you

' I,-r (b} OH

2, T SEXS

—_—
I ~OH .
H
H (d) CHg

cl ’ CHg

IR ~OH
ral = (T
H

+CHg ([:i} HsC O

b 5] ?
CH.CHCH;; —> CHsCH + CHacHgH
CHs B P
? r R
—— CHSCHCHon

Problem 8.45
gan oxidative cleavage reaction, explain how you would distinguish
een the following two isomeric dienes:

and

Problem 17.14
Which alcoholsiwg

uld give the following products on oxidation?

{b) ?Ha @_Q;D
CH3CHCHO
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Problem 10.12

(b) CH5CN CH3CH,NH, HaNCH,CHoNH,

Problem 10.13

Tell whether each of the following reactions is an oxidation, are

ductmn or ne|t é
{a) ﬁ: | l3
NaBH
CH3CH,CH _3,_4} CH3CH,CH,OH
H,0
(b) OH
1. BHg \
2. NaOH, Hy0,

Problem 17.34c

hat products would you obtain from reaction of 1-pentanol with the
HGng reagents?

,__,.:?-:Cr03. Hp0, Hy504

Problem 17.62

As a rule, axial alcohols oxidize somewhat faster than equatst
Which would you expect to oxidize faster, cis-4-tert-butylcyelt

trans-4-tert-butylcyclohexanol? Draw the more stable chalr 60_5
each molecule.




